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Tirne: 3 hrs.
Note: lnsryer any FIVE fult questions,

1 a. List and explail the functions of
b. List arrd prinbiples of

2 a. Define and list the
b. List the principle

3 a. What is
b. Define the'principle of

b. theory

5 a. Dcfine Entrepreneur. the
b. List the qualities of

6 a. What are the
b. Write about
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Marks: 100

each module.

mofe one layer protocol. When
transport layer protocol

and protocols to be considered
(08 Marks)

with each other by exchanging

message into, and receives

conversational audio/video
for offen requires one to decide
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Note: Answq any FIVEfull

I a. Many networks, including
you develop an
and consider various
while designing an

b. True or False :

i) Processes

messages computer
ii) A architecture
iii)

to choose
Explain the

different systems

interface through
from the network

iv) is tolerated in
v) a new

whether to choose
c. With a simple sketch,

or

ofA and B are

2 a. HTTPRequest
GET HTTP/I.1
HOST: l.edu

.0

:fr
the meaning

b of

200
Connection
Date 2011 15:
Server :

Last
Content_I;ength :

Content_type
(datadata--- - -).

c. What is the
Level Domain (rLD),

(relayl 145.37 .93.t26, A)

15 : 11 :03 GMT

(07 Marks)

DNS system? Explain the meaning ofroot DNS server, Top
Authoritative DNS servers. Explain ttre meaning of the

SMTF
sequence

,,,,,1,,r,,11111,,,, (05 Marks)
mail,jo,B where mail server

(07 Mark$
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(07 Marks)'1i

sketches (three way handshake,
(07 Marks)
the buffer
at receiver
(06 Marks)

Draw the FSM of sender and
b. Show the operation of GBN

receiver

4 a. Wjth a diagram, explain the

b. Explain TCp
closing). Explain use

c. Explain the flow
variation and
side is

packets

with

the sender.

,:if

with a

routing protocols
explain each the IPV4

by a simple sketches show
the window information

How packet queueing occur at router?

sequence of sending six
packet (pk2) 2 is lost.

OR

:
l

I

I

:

1

l
I

l

:
l

I

)

I

I

1

I

i

I

I

I

l

)
l
i
i

I
I

I

l

1

I
I

1

5a.

b.

Explain

c. With a diagram,
each field,

only few
s.,,,1r1111i,

,{ \h- l}
.,: I -..-.:j"'

\.t*

(08 Marks)
(04 Marks)

sentences about
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6 a. Suppose a router an IP
outgoing
header is

link
20

each
b. Draw

c. Refer
link
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ardl to be forwarded to an
Assume the IP

7 a. Explain the
b. Explain steps for a

relevant values for
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between IPV.r an IPVo format.

node 'c'to alt other rJllyJJTi
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9 a. Explain the working of video streaming over
roles in this process.

b. Explain how DASH helps to improve

c. Explain CDN operation with a

10 a.

b.

perfecting, buffer etc and the
(08 Marks)
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video from a site
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ordinary tables.
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i AlB1, NBz and A/Bri
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(04 Marks)

A:

oo
o
N!

<d

o
do

ko
bo#
o,-
-B
d9

!
^^iii00
.! ol6+

Ho
oi
-O

o>
awl

a6)

boi(€6

'o6

o*

aA
o.eo'i
,;6
tri:3uo Lr!

ai
!o

>\ CH

b0v
ibo

trt:b)Y!

\J<
*N
o

z
d

q

Time: 3 hrs.

1

7

3

Fifth Semester B.E. Degree
Database Ma

operation. the
where A, Br, Bz and

the basic available

makea.

b. quotient

them

Bz

in SQL.

.:.

.1'r,'{$,
r{i:' :l

folBttributes
*oR

4 a. Explain the convert the model
l

te RelationalDatabaso $chema? (10 Marks)
b. For the relations club:

Age)Nam6,
BOOKS Book-Author, Book-Publisher, Book-price)
RESERVES Date)
Write the

Find the members who are

List the
who have

(v)
Find

names of mernbers who have reserved
and titles ofbooks reserved on27-May-2017.

(1)

(iD
(iii)
(iv)

Find

older thau 45 ysars.

books that cost more than Rs.500.
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5 What are the components of the
alternatives for JDBC drivers.

7 a. Explain an Informal
br What do you
c, Consider the

Book

a.

b.

a.

b.
c.

17CS53

four different architectural
(10 Marks)

design. (08 Marks)
(04 Marks)

6

for a
closure?

for published
L{bt Price, Author_Application, Publisher)

dependencies
BookJype

Book lflce s
Author

normal form is the in? Explain
1y normalization cannot

reasons behind each

8 a. A set of functional for R{A, B,
BC--+D, D-+E.

form? whv is it

(D
( ii) the relations fi.rther, state the

the key normal riltimate normal

it Guarantee serializability?

(08 Marks)

is AB-C, C-+A,
eover for this set of

(10 Marks)
(06 Marks)

form? (04 Marks)
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(06 Marks)
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Filth Semester B.E. Degree Examination, Jan./Fe b,2021
Advanced Java and J2EE

'l intc: 3 hrs. Nlax. \,lar.l<s. 100

Ntrtc:.,{n,srr)er on)) l-'ll,'E /full questiorrs, cfioositrg Ofili./hlt questigrt.t''ntrtt grtt,lt rtrttiltrla.

Nlodule-l
a. llh-istratc u'ith an crampic how cnumcrations arc declared ancl uscd in.lava proerarlrliirr:..

Also list out thc cnur"ncration rcstrictions. (08 tr,trrrl<s)
b, i)cscribc Auto-boxing arrd Un-boxing and lrow it is ciifferent fi'om bririne anc'l rlnboxins.

IllLrstlate r,r,ith an exarrple. (06 rtar.t<sy
c. .lustif-v..lava enutrcralions is a class tlpe lvith an cxarnplc. (0(r plrls)

OR
rl, \\/jtll a svllta\ aitcl cxatlplc^ cxltlain irorv lirrnotlittrrns arc clcatcci ancl obtuirrctl ut rurrlrnrt:,

(07 \lallts)
h [)rscLrs,s llo\\ rcflect j()lts cat] bc rrscci at nirr tintc w ith arrrtotatiun>. (()(r ].trrrtis)
c' \Virat do yotl lttcatt b.v- T'i,pc \\'rapllor ancl cxplairr nrrnrcric t\,pc \\'llilllcr rvith an cr..rnrple'.,

(07 llarlis)

2

-)

NIoclu le-2
il. l)ctnousrrarc linked lists fbr collections rvith exaurple.
[:. Ilxplain hovv coll,cctions can bc accessed using iterator
Lr \\/ritc a program to cxpiain Linkcd Iist to slorc addrcss

4 il,

b

C.

OR
Ilrplain thc fbllon'irrg Lcgac_v classcs vvith cxantplc :

(i) Ilash tablc (ii) Vector (08 lrartts)
Discr-rss tirc fbllori,ing collcction integcrs sct ancl list. (06 \tarks)
\\/hat is a Collcction Irranrc tl'ork? Explain thc mcthods clctlnccl by collcction inrelf'acc

(06 Marlis)

Moclule-3
li, [irplain rvith syntax and exatnpic the dilterent constrltctors availablc fbr crcaring strirri]

(0lt )llrli.s)b. Lrxpiaitr thc lbllou'ing ttrcthocls cleflrrccl fbr character cxtraction,,vith exanrpLc.
(i) cliarAt ( ) (ii) getchars ( ) (iii) gerB;,"tes ( ) (i,,,) ro(.har.r\r.r.ar,( )

(()ll )larlis)c Write a pl'ogl'atx to tellovc rlLrplicate characters front a given strinu arrri ri isltlay tltc rcsLr lta11 '

string. (04 l\,tarks)

(07 llarlis)
(()(r !lirrks)
(07 \lnrlis)

(ir,) trrrn ( ) (10 llart<s)

5

it

b

OR
Explain hou, to modify a strinu by using lbllorving ntcrhocls:
(i) sLrbstnng ( ) (ii) concat O (iii) replacc ( )
i:ixplain thc lbllorving witir syntax ancl exanrple :

(i) ccluals (')and cqualslgtrorcCasc ( )
(ii) regionMatclies ( )

(iii) startsWith ( ) and cndsWith ( )
(ir ) equals( ) r,crsus :-: 

1 of 2

(10 )lurlis)
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NIoclu le-4
7 a. lrxplain httu,cookics cirn be handlecl using servlets.

b I-.xpiain clilltrcnt JSP tags rvith a prograrn to derronstrate alltags
c l:xplain thc Iif'c cycle ola scrvlct.

r 7cs553

(07 llrrks)
(0ll )'larks)
(05 \llrlts)

(l0 IIlrks)
(l() \lrrks)

fl ir

OR
Writc ii .lttra Scrvlct llrogranr 1() accept two paranlctcrs liont u,cbpagc, llncl thc sLlnt ol'thcnt.
displirl, tlrc rcrsLrll in rvcir;:agc. Also gir,,e nccessar),Hlutl sclipt to croatc u,cbpagc.

(10 )lar.tis)
\\iirat rs tlrc rolc clf'Tomcat sclver'/ Explain difl'crent stcJrs involved ur conliit,Lrrlus. lor'
cic'r'clopirtr'nt of'Sclvle't l)r'ogt ant c-xccutiolt. ( l0 \lrr.ks)

t).

Nloclulc-5
9 a. Ilriclli, explarn the dill'crent t),pes ol.iDllC drir,'ers.

b. I:xplarn r arious steps of JDBC proccss rvrtit coclc Snippcts

I0 ir.

b
'c.

OR
lllLrsllatc rt,jllt an cxurnplc liow to cnable [{csLrllsct as scrollablc,crrc] clcscribc thc
siir,nii'icline c oi'scrollablc llcsultsct. (0tt ]trrr ks)
I:xpllrin llrc tlpcs o1'cxccptions occr.rrrccl in JDBC u,ith cxantplc. (0,1 llarks)
lrrplain (i) [)r'eparedStatcrrrerrt ob.ject. (ii) CollableStatenrent ob.ject, (0u l\'trrrl<s)

,< )k ,t >F ,<

2 of2

i



$GHEME
trS\

'l'intc: 3lrrs

2

il l7cs564

Irilth semester 13.tr. Degree Examinntion, ,ran./rig h.202r
Dot Net Framework for Apprication Deveropment
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Notci; '{risrrter ott-| Ftl''E ./hlt qtrastiotts, cltoosittg oNE .t'ittt qttestiort.fi,onr e ut,1 rrtttrlule.

a. l.-.xplai, ihc gcr-cra1 
:lrLrclr lc 

t,lc+ n*ffih sLritablc cxamplc. (0(, rr,r.r<s)h \\"rtll progrltttltrtitlu crlt tlrIlc. cxplain erprcssiorr bodicd nrethocls arrcl str.i.s iutcrprlutio. itr( ,ri.

c' \\r'irc a (-+ pr.ut'attr t. cl.iccl< u'hethcr thc,Lrrnbcr 
'c,tl 1i,r.r Ihc uscr.is. sl1.()]rs i|,i,ii:l llln.t (llint : A nLtrllbct' is called strorg 

'ru'r.rbcr 
i1'sLrnr of'thc t..i",li,,r ,,i:,,, ,ii*1,, is cqual r.

ORil' Expiaiil thc cclncept ol ltlttticil arguttrcnts anci clprioniri lrari)rnctcr.s rr irjr r;r og.r1ur1l1rgc.rantplc. ' "" r' -

b Dcllrrc exceptiorl, l-xp1ar. iro*'cxceptio, nir,dlirg is rrciric'cri , c.'r. llillill.|.|]c \\'t'itc a c# prrluralll to llllcl tltc I'oots oi'a qLraclratii.q,ratiou by,rcarling ilrc c.c1'llcicrrs lr..r,lltc rrsu,.
(0(r lllr.lis)

a. Hxplain the conccpt ol'Iloxing ,nO ,r ith an cxarrple . (0(r t\t.rl<s)ll' Dcfine class atld strLlctLlre. civc the clillerenie bet*,een,r,r.,.ru..;rncl cl,ss. (()ri \larr<s)C' lllLtslrittc: the concept o1'stlitic clata, rvith c# progranr tirat c.oLrnts the rrr-r.r5cr. ol'rb-jccts be ir-*

,0R
ir l;rplain virlLrc tr.1tc ancl rcltr.cncc t-\/llc rvirh arr cxarnplc.b. Lxltlarri ,\non1,rr.ious classcs" vr tth rtn cxarnplc.c, I)u'll,e J.ggccl ,,\t-r.a1, lrxplai, u,ith pr.gr.rnr hour..i.ggctl

co ntltutcl' the srrnr o I, aI I c lc,rncnts.

Max. Marlis: 100

(0(r \111.151

(()(r \larlis)
aruays arc dcclarcci^ ltoltLr Iatcri ancl

(0tl llrrr l<s)

i:.rplain thc corccpt or'Ia'ar,ctc,. o.,'ffiffogra,rning cxanrprc. (0(r rrrrr<s)\\/hat is inheritance? What ar.e the iicivantages anci clisaJvantaqes ol. inhcr.itancc,,)lrxpiainttsitgco1.basckeytl,ctrditlirrlrcritatlce.
Irplain how ntethoci oVcrriclittg is achievecl in c# *,ith progranrrninu cxarn,lc. (06 r,r,rlis)

()tt
Lrrplain witlt cxatllllic absrract ancl sealeci l<eyr.r,ord u,ith rcspcct to class aprl ;rct6oris.

(10llarlis)
(0i \llrli.s),
(05 ll arks)

a,

h

5

C

6iL

b [i'rplarn the steps tal<en b1,'the garbage collector tci clcstr.ol, o[1ccrs.c. N,1cnrro, thc diff'cre,cc bctrvccn irrteiiacc :rni1 class.

i ol'2

GBG$



7 ,,t.

l;

C,

l7cs564

N{odu le-4
Dcllrrc pr'()l)crty rvith its syntirx. l-ist arrci explain r'vith exanlple clii'i'erent typcs ol'propcrtics,

(10 \larlis)
l-rst rnil crplliin diltrcnt op0rators r:sccl to acccss and uranipulate rndrvidual bits in'inL'
t)'llc. (05 \'larlis)

I)clrnc gcneric. Wrrtc a Cll plograrl lbr swapping of 2 numbers using gencric tlethocl,
(05 \lrrks)

OR
tl a. Ilxphin thc Stack<'I"> ancl Linked[-ist<T> collection class rvith prograntrring exantplc.

(12IIrrli.s)
b. [)ofinc irrdcxcr with its svntax. What are the uses clf indexers.? Demonstratc rvith an

cxanrplc. (0tl i\'larks)

NIocl u lc-5
9 u, Dclrnc I)clcgatc, Iixpiain hou'to dcclarc dclcgatc rvith an cxenrpic.

tr. [)cilnc c\,cnl., l:xpiain horv to hancile event bv Llsing a clclcgatc rvrth an exanrplc

(10 )lrtrlis)
(10 ]larlis)

l0 a.

b

OR
What is t.lNQ/ Explain LtNQ tbr sclccting and olclcring oi-data u,ith an lrnrunirnnrirr,g
cxirnplc. (10 )lallis)
[:rplain ollcrator ovcrloading and tircir constraints. Writc thc conrplctc C'il proeranr that
crcirtcs a cluss caiied'COl\4PLIrX'rvhich simr-rlates a corrpler nunrbei'and ovcrloads thc
()pcrators'i', '*' and'x' ior CO|vIPLEX ob-jects. (10l\Irrtrs)

2 al2


